Annales Mathematicae et Informaticae 41 (2013) pp. 211–217

> Proceedings of the 15th International Conference on Fibonacci Numbers and Their Applications Institute of Mathematics and Informatics, Eszterházy Károly College Eger, Hungary, June 25–30, 2012

Some aspects of Fibonacci polynomial congruences

Anthony G. Shannon^a, Charles K. Cook^b Rebecca A. Hillman^c

^aFaculty of Engineering & IT, University of Technology, Sydney, 2007, Australia tshannon38@gmail.com, Anthony.Shannon@uts.edu.au

^bEmeritus, University of South Carolina Sumter, Sumter, SC 29150, USA charliecook29150@aim.com

 $^c\mathrm{Associate}$ Professor of Mathematics, University of South Carolina Sumter, Sumter, SC 29150, USA

hillmanr@uscsumter.edu

Abstract

This paper formulates a definition of Fibonacci polynomials which is slightly different from the traditional definitions, but which is related to the classical polynomials of Bernoulli, Euler and Hermite. Some related congruence properties are developed and some unanswered questions are outlined.

Keywords: Congruences, recurrence relations, Fibonacci sequence, Lucas sequences, umbral calculus.

MSC: 11B39;11B50;11B68

1. Introduction

The purpose of this paper is to consider some congruences associated with a generalized Fibonacci polynomial which is defined in the next section in relation to two generalized arbitrary order $(r \ge 2)$ Fibonacci sequences, $\{u_n\}$ and $\{v_n\}$:

$$\begin{aligned} u_n &= \sum_{j=1}^r (-1)^{j+1} P_j u_{n-j} & n > 0 \\ u_n &= 1 & n = 0 \\ u_n &= 0 & n < 0 \end{aligned}$$
 (1.1)

and

$$\begin{array}{ll} v_n = \sum_{j=1}^r (-1)^{j+1} P_j v_{n-j} & n \ge r \\ v_n = \sum_{j=1}^r \alpha_j^n & 0 \le n < r \\ v_n = 0 & n < 0 \end{array}$$
 (1.2)

where the P_j are arbitrary integers and the α_j are the roots, assumed distinct, of the auxiliary equation for the recurrence relations above, namely,

$$0 = x^{r} - \sum_{j=1}^{r} (-1)^{j+1} P_{j} x^{r-j}.$$

For example, when r = 2 we have $u_n = P_1 u_{n-1} - P_2 u_{n-2}$ with $u_0 = 1$, $u_1 = P_1$, $u_2 = P_1^2 - P_2$, and so on. These are referred to as the Lucas *fundamental* numbers (see [8]). When r = 2 the $\{v_n \text{ correspond to the Lucas$ *primordial* $numbers with <math>v_0 = 2$, $v_1 = \alpha_1 + \alpha_2 = P_1$, $v_2 = \alpha_1^2 + \alpha_2^2 = P_1^2 - 2P_2$ and so on (see [5], Table 1).

| n | 0 | 1 | 2 | 3 | • • • |
|-------|---|-------|----------------|--------------------------|-------|
| u_n | 1 | P_1 | $P_1^2 - P_2$ | $P_1^3 - 2P_1P_2 + P_3$ | |
| v_n | r | P_1 | $P_1^2 - 2P_2$ | $P_1^3 - 3P_1P_2 + rP_3$ | • • • |

Table 1: First four terms of $\{u_n\}$ and $\{v_n\}$

In [11] the ordinary generating function

$$\sum_{n=0}^{\infty} u_n x^n = \prod_{j=1}^r (1 - \alpha_j x)^{-1}$$
(1.3)

is used to show that

$$\sum_{n=0}^{\infty} u_n x^n = \exp\left(\sum_{m=1}^{\infty} v_m \frac{x^m}{m}\right)$$
(1.4)

thus suggesting a generalized Fibonacci polynomial $u_n(x)$ defined formally as

$$\sum_{n=0}^{\infty} u_n(x) \frac{t^n}{n!} = \exp\left(xt + \sum_{m=1}^{\infty} v_m \frac{t^m}{m}\right).$$

$$(1.5)$$

Then from (1.4) and (1.5) we get (1.6) and (1.7)

$$u_n(0) = u_n n! \tag{1.6}$$

and thus

$$\sum_{n=0}^{\infty} u_n(x) \frac{t^n}{n!} = e^{xt} \sum_{n=0}^{\infty} u_n(0) \frac{t^n}{n!}$$
(1.7)

by analogy with the polynomials of Bernoulli, Euler and Hermite (see [2, 9]). Other analogies with these polynomials can also be obtained in [12].

We also note that there are many other ways of defining Fibonacci polynomials and their generalizations in literature, (see [1, 3, 6]). The aim in this paper is to extend some of the results associated with (1.5) to congruences (see [7]). Some of these properties for Fibonacci numbers were explored in [13]. Daykin, Dresel and Hilton also obtained some similar results by combining the roots of the auxiliary equation to aid their study of the structure of a second order recursive sequence in a finite field (see [4]).

2. Fibonacci polynomials

We emphasize that the concern here is with the formal aspects of the theory and in the term-by-term differentiation of series we assume that conditions of continuity and uniform convergence are satisfied in the appropriate closed intervals. Thus a result we shall find useful is a recurrence relation for these Fibonacci polynomials

$$u_{n+1}(x) = xu_n(x) + \sum_{j=0}^n n^{j} v_{j+1} u_{n-j}(x)$$
(2.1)

in which $n^{\underline{j}}$ is the falling factorial coefficient.

Proof of (2.1). Since

$$\sum_{n=0}^{\infty} u_n(x) \frac{t^n}{n!} = \exp\left(xt + \sum_{m=1}^{\infty} v_m \frac{t^m}{m}\right)$$

and

$$\frac{\partial}{\partial t}\sum_{n=0}^{\infty}u_n(x)\frac{t^n}{n!} = \sum_{n=0}^{\infty}u_{n+1}(x)\frac{t^n}{n!}$$

and

$$\frac{\partial}{\partial t} \left(\exp\left(xt + \sum_{m=1}^{\infty} v_m \frac{t^m}{m}\right) \right) = \left(x + \sum_{m=0}^{\infty} v_{m+1} t^m\right) \exp\left(xt + \sum_{m=1}^{\infty} v_m \frac{t^m}{m}\right),$$

we have that

$$\sum_{n=0}^{\infty} u_{n+1}(x) \frac{t^n}{n!} = \left(x + \sum_{m=0}^{\infty} v_{m+1} t^m \right) \sum_{n=0}^{\infty} u_n(x) \frac{t^n}{n!}$$
$$= \sum_{n=0}^{\infty} x u_n(x) \frac{t^n}{n!} + \left(\sum_{m=0}^{\infty} v_{m+1} t^m \right) \left(\sum_{n=0}^{\infty} u_n(x) \frac{t^n}{n!} \right)$$
$$= \sum_{n=0}^{\infty} x u_n(x) \frac{t^n}{n!} + \sum_{n=0}^{\infty} \sum_{j=0}^{n} n \underline{j} v_{j+1} u_{n-j}(x) \frac{t^n}{n!}$$

which yields the required result on equating coefficients of t.

When x = 0 this becomes

$$(n+1)u_{n+1} = \sum_{j=0}^{n} v_{j+1}u_{n-j}$$
(2.2)

since $n! = n^{\underline{j}}(n-\underline{j})!$. When r = 2 and $P_1 = -P_2 = 1$, equation (2.2) becomes the known (see [5])

$$nF_{n+1} = \sum_{j=0}^{n-1} L_{j+1}F_{n-j}.$$

Now from (1.5) it follows that

$$\sum_{n=0}^{\infty} u_n(x) \frac{t^n}{n!} = \exp(xt) \exp\left(\sum_{m=1}^{\infty} v_m \frac{t^m}{m}\right)$$
$$= \sum_{k=0}^{\infty} x^k \frac{t^k}{k!} \sum_{j=0}^{\infty} u_j t^j$$
$$= \sum_{n=0}^{\infty} \sum_{k=0}^n \frac{n!}{k!} u_{n-k} x^k \frac{t^n}{n!}.$$

So that on equating coefficients of t we get

$$u_n(x) = \sum_{k=0}^n \frac{n!}{k!} u_{n-k} x^k$$
(2.3)

and with (1.6)

$$u_n(x) = \sum_{k=0}^n \frac{n!}{k!} \frac{u_{n-k}(0)}{(n-k)!} x^k$$

so that

$$u_n(x) = \sum_{k=0}^n \binom{n}{k} u_{n-k}(0) x^k.$$
 (2.4)

Then

 $u_0(x) = u_0 = 1.$

It is of interest to note another connection between these Fibonacci polynomials and the classical polynomials. We can write equation (2.4) in the suggestive form

$$u_n(x) = (x + u_n(0))^n \tag{2.5}$$

which is analogous to the well-known

$$B_n(x) = (x + B_n(0))^n (2.6)$$

for the Bernoulli polynomials, and in which it is understood that after the expansion of the right hand sides of (2.1) and (2.2), terms of the form a^k are replaced by a_k as in the umbral calculus (see [10]).

3. Fibonacci polynomial congruences

We now use induction on t and n to prove that

$$u_{n+tm}(x) \equiv u_n(x) \left(u_m(x) \right)^t \pmod{m} \tag{3.1}$$

Proof of (3.1). When t = 0, the result is obvious for all n. When t = 1 and n = 1, we note from (2.1) that $u_1(x) = x + v_1$, and

$$u_{m+1}(x) = (x+v_1)u_m(x) + \sum_{j=1}^m m^{\underline{j}} v_{j+1}u_{m-j}(x)$$

$$\equiv (x+v_1)u_m(x) \pmod{m}$$

$$\equiv u_1(x)u_m(x) \pmod{m}.$$

Assume the result is true for t = 1, and $n = 1, 2, \dots, s$; that is,

$$u_{m+n}(x) \equiv u_m(x)u_n(x) \pmod{m}, \quad n = 1, 2, \cdots, s.$$

Then

$$u_{m+s+1}(x) = (x+v_1)u_{m+s}(x) + \sum_{j=1}^{m+s} (m+s)^{j} v_{j+1} u_{m+s-j}(x)$$
$$\equiv (x+v_1)u_{m+s}(x) + \sum_{j=1}^{s} s^{j} v_{j+1} u_{m+s-j}(x) \pmod{m}$$

since

$$(m+s)^{\underline{j}} = (m+s)(m+s-1)\cdots(m+s-j+1)$$
$$\equiv s(s-1)\cdots(s-j+1) \pmod{m}.$$

Thus

$$u_{m+s+1}(x) \equiv (x+v_1)u_m(x)u_s(x) + \sum_{j=1}^s s^j v_{j+1}u_{s-j}(x)u_m(x) \pmod{m}$$
$$= u_m(x)\left((x+v_1)u_s(x) + \sum_{j=1}^s s^j v_{j+1}u_{s-j}(x)\right) \pmod{m}$$
$$= u_m(x)u_{s+1}(x) \pmod{m}.$$

So when t = 1, for all n,

$$u_{n+m}(x) \equiv u_n(x) \left(u_m(x) \right)^1 \pmod{m},$$

when t = 2, for all n,

$$u_{n+2m}(x) \equiv u_n(x) \left(u_m(x) \right)^2 \pmod{m}.$$

Assume the result holds for $t = 3, 4, \cdots, k$:

$$u_{n+(k+1)m}(x) \equiv u_{n+km}(x)u_m(x) \pmod{m}$$
$$\equiv \left(u_n(x)\left(u_m(x)\right)^k\right)u_m(x) \pmod{m}$$
$$\equiv u_n(x)\left(u_m(x)\right)^{k+1} \pmod{m}$$

and this completes the proof of (3.1).

As a simple illustration of (3.1), if r = 2, m = 2, n = 3, and t = 1, then from (2.3)

$$u_{5}(x) = \sum_{k=0}^{5} \frac{5!}{k!} u_{5-k} x^{k}$$

$$\equiv \frac{5!}{4!} u_{1} x^{4} + \frac{5!}{5!} u_{0} x^{5} \pmod{2}$$

$$\equiv 5x^{4} + x^{5} \pmod{2}$$

$$\equiv x^{4} + x^{5} \pmod{2}$$

and similarly,

$$u_3(x) \equiv 3x^2 + x^3 \pmod{2}$$
$$\equiv x^2 + x^3 \pmod{2}$$
$$u_2(x) \equiv x^2 \pmod{2}$$

or

$$u_5(x) \equiv u_3(x) (u_2(x)) \pmod{2}$$

It follows that for $n = 2, 3, \cdots$,

$$u_n(x) (u_m(x))^t - u_{n+tm}(x) = \sum_{j=-ntm}^{tn} B_j(n) u_{n+j}(x)$$
(3.2)

in which the $B_j(n) = B_j(n; t, m)$ are also polynomials in n with integer coefficients modulo m. We may also assume that in the summation $B_j(n) = 0$ $(-ntm \le j < -n)$.

4. Conclusion

The $\{u_s(0)\}$ satisfy recurrence relations with variable coefficients:

$$u_n(0) = n! u_n$$

= $n! \sum_{j=1}^r (-1)^{j+1} P_j u_{n-j}$

$$=\sum_{j=1}^{r}(-1)^{j+1}P_{j}\frac{n!}{(n-j)!}u_{n-j}(0).$$

This may be worthy of further separate investigation, as may two-dimensional polynomials of the form $\{u_{m,n}(x)\}$ to correspond with horizontal and vertical tilings of Fibonacci numbers.

Acknowledgements. The authors would like to thank the anonymous referee for carefully examining this paper and providing a number of important comments.

References

- AMDEBERHAN, T., A Note on Fibonacci-type Polynomials, *Integers*, Vol. 10 (2010), 13–18.
- [2] ANDREWS, G. E., ASKEY, R., ROY, R., Special Functions, Cambridge: Cambridge University Press, (1999).
- [3] CIGLER, J., A New Class of q-Fibonacci Polynomials, The Electronic Journal of Combinatorics, Vol. 10 (2003) #R19.
- [4] DAYKIN, D. E., DRESEL, L. A. G., HILTON, A. J. W., The Structure of Second Order Sequences in a Finite Field, *Journal für die reine und angewandte Mathematik*, Vol. 270 (1974), 77–96.
- [5] HOGGATT, V. E. JR., Fibonacci and Lucas Numbers, Boston: Houghton Mifflin, (1969).
- [6] HOGGATT, V. E. JR., BICKNELL, M., Roots of Fibonacci Polynomials, The Fibonacci Quarterly, Vol. 11 (1973), 271–274.
- [7] LEHMAN, J. L., TRIOLA, C., Recursive Sequences and Polynomial Congruences, *Involve*, Vol. 3 No. 2 (2010), 129–148.
- [8] LUCAS, E., Théorie des nombres, Paris: Gauthier Villars, (1891).
- [9] RAINVILLE, E. D., Special Functions, New York: Macmillan, (1960).
- [10] ROMAN, S., The Umbral Calculus, New York: Dover, (2005).
- [11] SHANNON, A. G., Fibonacci Analogs of the Classical Polynomial, Mathematics Magazine, Vol. 48 (1975), 123–130.
- [12] SHANNON, A. G., COOK, C. K., Generalized Fibonacci-Feinberg Sequences, Advanced Studies in Contemporary Mathematics, Vol. 21 (2011), 171–179.
- [13] SHANNON, A. G., HORADAM, A. F., COLLINGS, S. N., Some Fibonacci Congruences, *The Fibonacci Quarterly*, Vol. 12 (1974), 351–354,362.